Friday imitate - Overwrite

You may want to use your own ideas, but you can also follow the structure of the WAGOLL text. 
What I have written in purple has closely followed the original version. Use my example to help you.


Yesterday - following months of meticulous research and digging - dinosaur fossils were unearthed in 
Last night – after an evening of unusual events – an Englishman was spotted descending 
South America. It has been suggested that the palaeontologists, who are based at an excavation site 
_________________________________________________________________________________
in Argentina, have discovered fossils belonging to the largest land animal that has ever been found by 
_________________________________________________________________________________
scientists. Reports indicate that the finding will transform our view of Jurassic species.

Whilst only fragments remain of the dinosaur’s skeletons for scientists to use for testing, new 
_________________________________________________________________________________
evidence indicates there once existed a dinosaur that would have dwarfed even the tyrannosaurus-
_________________________________________________________________________________
rex (often known as T-Rex). According to leading palaeontologist, Dr Gregory Paul, “Patagotitan is 
_________________________________________________________________________________
definitely not the largest known titanosaur; the previously less-known Argentinosaurus has larger 
_________________________________________________________________________________
individual bones.”
_________________________________________________________________________________

Even though the dinosaur remains that have been found are incomplete, scientists insist that their
_________________________________________________________________________________
findings and measurements are reliable. Highly-accurate models (constructed in 3D) were based on
_________________________________________________________________________________
restorations of the entire skeletal profile of the dinosaur. 
_________________________________________________________________________________

How were these vast creatures able to survive? Logically - to grow and live – huge herbivores, which 
_________________________________________________________________________________
the Argentinosaurus were, needed to devour several trees daily just to stay alive. On the other hand, 
_________________________________________________________________________________
there were advantages to their size; no predators were able to attack them successfully. 
_________________________________________________________________________________

At this early stage, it may be premature to suggest why the titanosaur became extinct. However, Dr 
_________________________________________________________________________________
Paul reasoned that it could be linked to a lack of sustainable food supplies: “It is possible that 
_________________________________________________________________________________
limitations in finding food are what limited the size of dinosaurs over time.” 
_________________________________________________________________________________

Staff at the site have confirmed that they will be updating the media and general public with further 
_________________________________________________________________________________
updates of their ground-breaking discovery. 
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